BFASmLL R

(6 5—L%EW -/ —TF FIRYT—Y)
4

&899 14 1 2 3 B B MR |IE6 ~—LBREE |IE6Z) B

®jiz :E?,i Egi{ﬂﬁégn ; 6 — 4 — 0[100.0 | 1 |6 — 10]60.000 | 1 1

®2$ i:; Eg;ﬁ;ﬁg{; ; 4 — 6 - 0.0 2[4 — 10]40.000 | 2 2
BF45mLL L 2 GIRER (64 —LER-/—TF FIRVT—P

£JOvy2fi 1 2 3 4 SRR | B B Y —LBEE | IER IE6L

ifﬂ;”g E*éig:j ; 6 — 5 — 0[100.0 | 16 — 11]sa5as | 1] 1

®f;g zg E:j;:{rﬂgi 5 — 6 - 00| 2[5 — 1145455 | 2 | 2
BF45mUE 3 HRIRER (64 —L%ER -/ —=F FIRVT=

£JOvy 3 \ 1 2 3 4 R | BpEx Ew] r—LoREE |Ea] I\

g;*%i_ﬁﬁ Eﬁ:;;j;m; 3 — 6 — 1] oo| 23— 9|mu| 2] 2

;2;;5%25& EEiE:jﬁ; 6 — 3 — 0[100.0 | 1|6 — 9jsesr | 1| 1
BFSEUL 4 GIRE (6 5—L%ER -/ —F FIRvT—

£J0OvY 4 1 2 3 4 BSER | B |IEME| A —LBEE | IEG IESL

®§Tﬁ :22 EET:;;E; 2 — 6 - 00| 202 — 8l2s00 | 2] 2

®;‘;: if EE?E:jﬁ; 6 — 2 — 0]100.0 | 16 — 8|00 | 1] 1




